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Construct a DFA for the language L={am b
n:m>=0,n>0,nisodd}. Design a DFA that
recognizes that language of any number of
a’s followed by any odd number of b’s.

Determine the given finite automata is
non-deterministic in nature through JFLAP.

) o

Convert the given NFA as shown in figure
into corresponding DFA.

PE =D~

Minimize the given DFA.

Convert the following DFA into regular
grammar.

Convert the following DFA into regular
expression.

Convert a(b+c)"a to DFA. The string must
start with an ‘a’ which is followed by a mix
of b’s and c’s repeated in any order.




Construct a Mealy machine which takes a
binary number and replaces the first 1 with
a 0 from every substring starting with 1. For
example, 0001001110 becomes
0000000110.




EXPERIMENT NO. 1

Problem : Construct a DFA for the language L={ambn : m>=0,
n >0, n is odd}. Design a DFA that recognizes that language of any
number of a’s followed by any odd number of b’s.

Solution :
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EXPERIMENT NO. 2

Problem : Determine the given finite automata is non-deterministic
in nature through JFLAP.

Solution : Non-Deterministic states are highlighted
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EXPERIMENT NO. 3

Problem : Convert the given NFA as shown in figure into
corresponding DFA.
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Solution :




EXPERIMENT NO. 4

Problem : Minimize the given DFA.
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EXPERIMENT NO. 5

Problem : Convert the following DFA into regular grammar.

a

a

Solution :




EXPERIMENT NO. 6

Problem : Convert the following DFA into regular expression.

Solution :

(a*b(ab)*aa)*a*b(ab)*




EXPERIMENT NO. 7

Problem : Convert a(b+c)"a to DFA. The string must start with an
‘a’ which is followed by a mix of b’s and ¢’s repeated in any order.

Solution : The NFA of given regular expression is given below :

The DFA of given regular expression is given below :




Lo
1395648,10,12

EXPERIMENT NO. 8

Problem : Construct a Mealy machine which takes a binary
number and replaces the first 1 with a 0 from every substring
starting with 1. For example, 0001001110 becomes 0000000110.

Solution :




0111001
0001001110
111010110

100010011100

0011000
0000000110
011000010
000000001100




